RD SHARMA
Solutions
Class 8 Maths
Chapter 7

Ex 7.6



Solve:

Q1. 4x2 + 12xy + 9y?

Soln.

=(2x)* +2 x 2x x 3y+ (3y)?
=(2x +3y)?

=(2x+3y) (2x +3y)

Q2. 9a% — 24ab + 16b?
Soln.

9a% — 24ab + 16b2

=(3a)> — 2 x 3a x 4b+ (4b)?
=(3a—4b)?

= (3a— 4b) (3a— 4b)

Q3. p2q2 - 6qr + 9r> = (pq)> — 2 x pq x 3r + (3r)?
Soln.

p?q2 — 6qr + 91> = (pq)*> — 2 x pq x 3r + (3r)?

= (pq =31’

=(pq—3r) (pq —3r)

Q4.36a% +36a+9

Soln.

36a>+36a+9
=94a®+4da+1)=9{(2a)> 2 x2ax 1+1%}
=92a+1)?

=9Qa+1)(2a+1)

Q5. a>+2ab +b*—16
Soln.

a’+2ab+b>— 16
=a?+2xaxb+b>—I16
=(at+b)? —42
=(a+b—4)(a+tb+4)

Q6. 977 — X2 + 4xy — 4y?

Soln.

9z% — X2 + 4xy — 4y?

=977 — (x> — 4xy + 4y?)
=972~ [x> =2 x x x 2y+ (2y)]
=32 - (x-2y)*
=[3z—(x-2y)] Bz +(x—-2y)]
=3z—x+2y)(3x+x-2y)



=(x—2y+3z)(-x+2y+3z)

Q7. 9a* — 24a%b? + 16b* — 256

Soln.

9a% — 24a%b? + 16b* — 256

= (9a* —242%7 + 16b*) — 256
=[(3a% — 2 x 3a? x 4b? + (4b%)?] —167
= (322 —40%)?% — 16?

= [(3a? - 4b%) -16] [(3a> - 4%) + 16]

= (3a% - 4b%-16) (32> — 4b? + 16)

Q8. 16— a®+ 4a3b> — 4b°
Soln.

16 — al+ 4a3b® — 4b°
=16—(a®—4a’b’ + 4b°)

=42 [(@)P-2x 2’ x2b° +(2b%)7]
=42_ (a3 _ 2b3)2

= [4— (a3 —2b%)] [4 + (a° — 2b%)]
=(4-a’-2b%) (4 +a’-2b")
=(a'=26%+4) (-’ - 267 +4)

QY. a2—2ab + b2 - ¢
Soln.

a2—2ab+b2—¢2
=(a?—2ab +b?) —c?
=(?-2xaxb+b?)-c?
=(a-bP-c2
=[(a=b)—c][(a=b) +c]
=(a-b-c) (a=b+c)

Q10. X2+ 2X +1-9Y2
Soln.

X2+2X +1-9Y?2
=(X2+2X +1)-9Y?
=(X*+2xXx1+1)-9Y?
=(X+172-(3Y)?
=[(X+1)=-3Y][(X+1)-3Y]
=(X+1-3Y)(X+1+3Y)
=(X+3Y+ D) (X-3Y+1)

QI1. a2+ 4ab + 3b?
Soln.

a2+ 4ab + 3b2



=a’+4ab +4b%> - b?
=[a?+2xax2b+(2b)*] - b?
=(a+2b)*—b?
=[(a+2b)—b] [(a+2b)+b]
=(a+2b-b)a+2b+b)
=(a+b)(a+3b)

Q12. 96 — 4x — x?

Soln:

96 — 4x — x?
=100-4—4x x>
=100— (x> +4x +4)
=100—(x*+2xxx2+2%)
=107—(x +2)?
=[10-(x+2)] [10 + (x +2)]
=(10-x-2) 10+x+2)
=@8—=x)(12+x)
=x+12)(-x+38)

Q13.a*+3a%2+4

Soln.

a*+3a%+4
=at+4a’—a>+4
=(at+4a2 +4)-2a’
=[(@?+2xa’x2+2% -a’
= (a2 +2)—a?
=[(@*+2)-a][(a® +2) +a]

=(a®—a+2)a’+a+2)

Ql4. 4x* +1

Soln.

4x*+1

=dxt 4P+ | - 4xP
=[(2x?)?+2x2x% x 1 + 1] —4x?
=22+ 1) -(2x)?

=[@2x%+ 1)=2x] [(2x*> + 1) +2x]
=2 =2x+ 1)( 23+ 2x + 1)

Q15. 4x* +y*

Soln.

4x4+y4

=4+ 4x%+ yt - dxy?

=[(2x2 +2x2x% xy + (¥ 2] - (2xy)?
=(2x7 +y? - (2xy)?



=[@x%+y?) = 2xy] [(2x* +y?) + 2xy]

=(2x2=2xy +y?)(2x7 + 2xy +y?)

Q16. (x+2)2—6(x+2)+9
Soln.

(X+2P2-6(x+2)+9
=(x+2-2x(x+2)x3+32
=[(x+2)-3P

=(x+2-3)?

=(x-1y7

=(x-1)x-1)

Q17.25-p*—q%-2pq
Soln.

25-p*-q*-2pq
=25-(p>+2pq+q)
=53 (p*+2xpxq+qd)
=5 -(p+q)’
=B-(p+l5+p+al
=G-pta(5+ptq
=-(ptq-5)p+qt5)

Q18. x2 + 9y? — 6xy — 2522
Soln.

x% + 9y? — 6xy — 25a%

=( x>—6xy + 9y?) — 252>
=[x*-2xxx 3y +(3y)?] - 252°
= (x=3y)’ - (5a)?
=[(x—3y)—5a][(x-3y) + 5a]
=(x—3y—35a)( x—3y+5a)

Q19. 49 — a2 + 8ab — 16b?
Soln.

49 — a2+ 8ab — 16b2

=49 — (a®— 8ab + 16b?)

=49 —[a>-2xax4b+ (4b?)]
=7~ (a—4b?)
=[7—(a—4b)][7 + (a—4b)]
=(7—a+4b)(7+a—4b)
=—(a—4b-7)a—-4b+7)
=—(a—4b+7)a—4b-7)

Q20. a2 - 8ab + 16b2 — 25¢*



Soln.

a%—8ab + 16b% - 25¢2

= (a2 — 8ab + 16b%) — 25¢2
=[a2—2 x ax 4b + (4b)?] — 25¢2
=(a—4b)>—(5¢)
=[(a—4b)—5c] [(a—4b)>+ 5¢]
=(a—4b—5c)(a—4b+ 5c)

Q21. x2—y2+ 6y -9
Soln.

x2—y?+6y-9
=x?—(y*+6y-9)
=x>—(y?-2xyx3+3?)
=x*—(y-3)*
=x=(y=3)][x+-3)
=(x-y+3)(x+y-3)

Q22.25x2—-10x + 1 - 36y?
Soln.

25x% - 10x + 1 — 36y?
=(25x%— 10x + 1) - 36y>
=[(5x)*-2x 5xx 1 + 1] - 36y?
=(5x—1)*—(6y)
=[(5x—1)—6y] [(5x— 1) + 6y]
=(5x—1—6y)( 5x—1 +6y)
=06x—-6y—-1)(5x+6y—1)

Q23. a2 — b+ 2bc — ¢?
Soln.

a2 — b2+ 2bc — ¢?
=a%—(b>-2bc +c?)
=a’—(b*>-2xbxc+c?)
=a?—(b-c)?
=la—=(b-0o)[a+(b-c)]
=(a—b+c)atb-c)

Q24. a>+ 2ab + b>—¢?
Soln.

a%+2ab +b?—¢?

= (a’+2ab + b?) — ¢?
=(@*+2xaxb+b?)—c?
=(a+b)>-c?
=[(a+b)—c][(@a+b)+c]

=(atb-c)(at+b+c)



Q25.49 — x2—y2 + 2xy
Soln.

49 —x2—y? +2xy

=49 - (x*+2xy —y?)
=7 - (x-y)
=[7=x=WI[7T+x=-y)]
=(T-x+y)(7T+x-y)
=x-y+7y—-x+17)

Q26. 2+ 4b* — 4ab — 4¢?
Soln.

a%+ 4b% —dab — 4c?

= (a®+ 4b? — 4ab) — 4c?
=[a2—2xax2b+(2b)?] — 4c?
=(a—2b)*—(2c)?
=[(a—2b)—2c] [(a—2b) + 2c]
=(a—2b—2c)(a—2b+2c)

Q27. x2 —y?—dxz + 422
Soln.

X% —y?—dxz + 477

= (X2 —4dxz+47%) —y?
=(x=22)"-y?
=[(x=22)=y] [(x=22) +y]
=(x—-2z-y)x—-2z+y)
=(x+ty-2z)(x-y-22)



